Act #99  NeFE PRACTICE

' . Mary opened a saving account at a bank in

—_ Raleigh. She deposited $4,000 at 6% interest

- compounded ng%:%wwézp

T IHOW much money will she have in 8 years if she does

E— not withdrawal or deposit any over the 8 years?

To the nearest tenth, how long would it take for her
money to triple? | |

T To the nearest tenth, what would the interest rate need

B to be in order for her money to turn into $7800 over

o the 8 y1s?

@ Find  to the nearest tenth.

a) 6.5  b) 6.7 29
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- w@ | A jar contains 10 purple marbles and 2 red marbles. If two marbles are

~+ chogen at random with no replacement, what is the probability that

2 purple marbles are chosen? _ 1
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